2. The Solow model (35 points)

a) (20 points) A country is described by the Solow model, with a production function of
¥ = k'/2. Suppaose that today, k is equal to 600. The fraction of output invested is 30% and the
depreciation rate is 2%. How does the output per worker today compare with the steady-state one?
Explain your conclusion.
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b) (15 points) Suppose that the national production function for the Canadian economy can
be expressed as Y = AK®L'~9, where each variable is as described in class. Explain how one could
estimate the value of parameter o for Canada. Be as complete as possible while remaining clear
and concise.
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